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. Rough work is to be done on the space provided for

. The candidates should ensure that the Answer Sheet

The Answer Sheet is inside this Test Booklet. When
vou are divected to open the Teat B-e:u;riclal'r.. take out
the Answer Sheet and fill in the particulara on
side-1 and side-2 carefully with blue/black ball paint
nly.

g’?ir:ﬂw;t i of 3 hours duration and :TESI'. Et-l:u_ﬁklel:
sontains 180 questions. Each question !:arnes_d
marke. For each correct responas, the candidate will
get 4 marks. For each incorrect response, oné 1_1mrl:
will b dedueted from the total scores. The maxmum
marks are 720, -
Iz« Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses.

this purpoge in the Test Booklet only.
On completion of the test, the candidate must
hand over the Answer Sheet to the invigilator
hefore leaving the Room/Hall. The eandidates
are allowed to take away this Test Booklet with
them.

The CODE for this Booklet is P'1. Make sure th
the CODE printed on Side-2 of the Answer Sheet i
the same as that on this Test Booklet. In case of
discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both
the Test Booklet and the Answer Sheet,

13 not folded. Do not make any stray marks on the
Answer Sheet. Do not write vour Roll No, anywhere
elae except in the specified space in the Test Booklet/
Anawer Sheot.

Use of white flusd for correction 1a NOT permissible
on the Anawer Sheetl
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k of mass M 18 suspended by a lang
L, the length of the wire becomeg
potential energy stored in the

When a bloc
wire of length L,
(L+10). The elastic

extended wire 18

iy Mgl

2 Mgl
1

[:ﬁ'}l E Mgf
l |

@ 3 MgL

i attached to a thin wire and whirled
i]::::tin:::] cirele. The wire ia most likely to break
when
{1} themassisat the highest point
{2} thewireis horizontal .

{3 themassisat the lowest point .
{4}  inclined at an angle of 60° from vertical

lonized hydrogen atoms and e-particles with same
momenta enters perpendicular to a conatant
magnetic field, B. The ratio of their radii of their

paths rip:r, will be

n 2:1
2 1:2
@  4:1
4  1:4

Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The
collizion is head on and elastic in nature. After
the collizion the fraction of energy lost by the
colliding body A is

5 %
® 5
® 3
@ 3

In a double alit experiment, wh ]

« when light of
wavelength 401} nm was used, the angﬂn:gwidth
of the first minima formed on g screen placed 1 m
AWAY, was found to be 0.2°, Whay will be the
angular width of the first minima, if the entire
experimental apparatus is im i ?
S mersed in water

(1) 0266
@ 015
@ o005

@ oae- '«
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I which of the following devices, the eddy current
effect iz not used 7

i1 induction furnace

(2)  magnetic braking in train
(3 electromagnet

i4)  electric heater

A soap bubble, having radius of 1 mm, is blﬂ*_im
from a detergent solution having a surface tension
of 2.5 % 10~ % Nifm. The pressure ingide the bubhle
equals at # point Z; below the free surface of water
in a container. Taking g=10 m/s%,
density of water =103 kg/m?, the value of Zjis

(1) 100cm
(24 10 emy
(3 1cm
4 0.6 cm

Which colour of the light has the longest
wavelength ?

(1) red
23 blue
(3 green
(4)  wviolet

A d_ia:: of radius 2 m and mass 100 kg rollz on a
horizontal floor, Tts centre of mass has speed of
20 cmfs. How much work is needed to stop it ?

L 34
2} 30k
@ 24
4 14J

The dj&l?lﬂmmﬂﬂt of a particle executing simple
harmonic motion is given by

y=Ag+Asinot+ B coswt,

Then the amplitude of its pscillation is given by :

'[1:’ A“ + ‘Iln.“ll.':'! o H'H
® JETE
&l Jﬂ.ﬁ + (A + B)?

4 A+B
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Twi similar thin equi-convex lenses, of focal length
feach, are kept coaxially in contact with each other
such that the focal length of the combination 18
F,. When the space between the two lenses 18
filled with glycerin (which has the same refractive
index {j. = 1.5) as that of glass) then the equivalent
focal length is Fy. The ratio Fy @ Fy will be :

(I 2:1

& 1:2
m 2:3
4 3d:4

Increase in temperature of a gas filled in a container
would lead to:

(1) increase inits mass

{2}  increase inits kinetic energy

(%)  decreasein its pressure

(4)  decrease in intermolecular distance

An electron is accelarated through a potential
difference of 10,000 V. Tts de Broglie wavelength
is, (nearly): (m,=9x 10~ 3 kg)

(1) 122x10-Vm

2}y 122x10-12Zm

(@ 122x10-14pm

[  122nm

A copper rod of 88 em and an aluminium rod of
unknown ]eng_f:h. have their increase in length
afmﬂepenl dentufmmaaeintemperature.Theleneth
aluminium rod ig - =1. =5K-1
oy o ooy =1.7%10-5K-1 gpnd

(1) 68cm
@  113.9em
(3 BScm
1 68em

Pick th i
mi]]l]uu:‘ Wrong answer in the context with
(1) When the light rays undergo two internal

reflections in a water 4
rainbow i formed, ¥y & becoudary

2 The order of coloury 1
¥a 18 r -
secondary rainhow. eversed in the

() Anobserver can see g pa; .
is towards the sun, rainbow when his front

4} Rainbow is a combined
: effect of dispersi
refraction and reflection ﬂfg“f'ljﬂ.’ht ergion,
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Fi

' urface of the earth.
A hody weighs 200 N on the &
How ;um will it weigh half way down to the centre
of the earth 7

(1) 160N
@ 200N
@ 260N
(4) 100N

Six similar bulbs are connected as ahuw_n in the
figgure with a DC source of emfE, and zero internal
resistance.

The ratio of power consumption by the bqlba when
(i) all are glowing and (i1} in the air.uat_:cm when
¢wo from section A and one from section B are
glowing, will be:

¥ A————F
A B
[™]

)
"L
il
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_!
( 4:
2 9:
@ 1:
) 2

For a p-type semiconductor, which of the following
statements is true ?

{1}  Electrons are the majority carriers and
trivalent atoms are the dopants.

(Z)  Holes are the majority carriers and trivalent
atoms are the dopanta.

(3) Holes are the majority carriers and
pentavalent atome are the dopants,

{4)  Electrons are the majority carriers and

pentavalent atoms are the dopants.

Average velocity of a particle executing SHM in
one complete vibration 1s:

Auw
(1) o
2y Aw
!l!
@ 2o
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20. TN TR I AEE R - ap. The it of thermal conductivity 1% =
M JmK-1 . ® JmE |
@ Jm-1K-! @ Jm K
(3 WmK-! @ WmK™?
@ Wm-1lK-1 (4) W'I:I:I_]H-_]
2. 4 o= ,
om *aih' 2 ]'[E FEE LR ﬂﬂﬁﬁ?ﬂﬂ'ﬁ? m tid & ]_i;ﬂ&efﬂfrﬂﬂﬂﬁ g kgﬂﬂd radius 4 m i
Y O 21. A=o ¥
1 3 rpm W S H TOA B T A rotating about its axis at the rate of 3 rpm. Th,
oftram w17 ¥ gvam 38 T ¥ o anEves =69 torque required to stop after 27 revolutions is ;
e ) 2x10-%Nm
(1) 2x10"%Nm -5 2
@ 2x10-3Nm 0 ExIpTENm °
@ 12x10-4Nm @ 12x1074*Nm
4 2x10°Nm (@ 2x108Nm
22. ol e R =W P =20+ 10y ¥ W | 22 A force F=20+ 10y acts on a particle in y-direction
wE, T F A d gy T T8 SHENH 3=0 where F is in newton and y in meter. Work done
Hy=1 m 7% 7 =10 & Form o v £ by this force to move the particle from
304 y=ltoy=1lmis:
@ 5J Iy 30d
@ 254 @ 54
4 20d @  25d
2. Frefertom & & G
b i s, wftey ween qf F w9
FE?
¥ 23. Which of the following acts as a circuit protecti
DI device ? e
@ W (1}  conducter
(& TE= {2}  mductor
@ (8  switch
4 fuse
24, i Ty wftey | el s il F vew
o :
%4, In the circuits shown below, the readings of the
voltmeters and the ammete -
1002 i 100 i eters will be
i . 1
| I S
10V 10V _| - J
I
aftaer 1 o — v oV
) Vy>V, 7 i=i, Clreuit 1 Circuit 2
@ V=V, T i >0, W V=V, and i) =g,
(3 v£= vE k) i]-p2 ‘:} VEEV}! and E|_ :*I!-E
{4} 1-5’3}"-’1 G lll :'.I‘I'.E: {'} vl: vf and !-|=I-2
4 V,>V, and fy > 1,
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(@
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frelt Fan & feet WY ¥ e W Fw S
- 1.4 E‘LF?I EOET T #ﬁ@lﬁfﬁﬁﬁmi
{1} -3.4eV, —3.4eV

i —d.4eV, —68eV

(3 3J4eV, —6.8eV

) 3.4V 3.4eV

v st T o oE W F Al F I
oI T i e S & FET B E, A Sreaad
I o m ?

{1 180°F

@

(3)  AT9EF S HIE

(4 8

felt 2 m 0 et 3 e A Srnd b, o e
Tt s End e &
{1) mgh

(2)

(3

4)

26.

26.

P1

A hollow metal sphere of radius R is uniformly

charged. The electric field due to the sphere at a

dizstance r from the centre :

(1) increases as r increascs for r = |t and for

r=R

zero as rincreases for r < R, decreases ast

increases forr =R

zoro as rincreases for r < R, increases ag T

inereases forr=H

decreases as r increases for r < R-and for
r=R

At a point A on the earth's surface the angle of
dip, = +26°. Atapoint Bonthe earth's gurface
the angle of dip, 8= —25". We can interpret

that

()
(3

53

A and B are both located in the northern

(L
hemisphere.
(@) Aislocated in the southern hemisphere and
B iz located in the northern hemisphere.
(@) Aislocated in the northern hemisphere and
Bis located in the southern hemisphere,
(1) A and B are both located in the gouthern

hemisphere.

The total energy of an electron in an atom in an
arbit is — 3.4 eV, Its kinetic and potential energies
are, rogpactively :

(1) —34eV, =34V
 —3deV, —G8eV
(@ 3d4eV, -6.8eV
4) 3J4deV, 3deV

In total internal reflection when the angle of
incidence 12 equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ?

(1) 180
@ o
(@  equal toangle of ineidence

(4 80

The work done to raise a mass m from the surface
of the earth to a height h, which is equal to the
radius of the earth, i3 :

(I} mgR

2  2mgR
(3 % mgh
(4) % mgH
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33.
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flg 34,

(s shot from the bottom of a1

le 607wy
lane kept ?t. an ang with
igomtal, it -c:ar}i} travel a distance = along th,,
]'lﬂﬂmﬂﬂu; when the inclination Lﬂ_decreaned ta
gfjaﬂn:r;d the same object s ghot w1%ﬂ the sam,
velocity, it can travel X3 distance. nx g

When an object
smooth inclined

will be ;
() 1:42

@ J2:1

@ 1:48

@ 1:23
a-particle consists of ;

(1) 2 protons and 2 neutrons only
{2}  2electrons, 2 protons and 2 neutrons
()  2electrons and 4 protons only

{4y 2 protonsonly

The speed of a swimmer in still water is 20 m/a,
The speed of river water is 10 m/s and is flowing
due east. If he is standing on the south bank and
wishes to eross the river along the shortest path,
the angle at which he should make his strokes

w.r.t. north is given by :

(1)  30°west
@ o

(3)  60°weat
(4)  45°west

A particle moving with velocity v is acted by three
forces shown by the vector triangle PQR. The

3E

velocity of the particle will -
P
R Q
(1)  increase
(2} decreage
3 remain constant
() change according to the smallest foree ﬁﬁ
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37.

E AL

Two particles A and B are moving in un.ifurrE
circular motion in concentric circles of ra Ii?l
r, and rp with speed vy, and vp respectively. T:'neu-
time period of rotation is the same. The ratio of
angular speed of A to that of B will be :

(1) Th:irpg
(2} uytup
(3) rp:iTy
@ 1:1

A block of mass 10 kg is in contact against the
inner wall of a hollow evlindrical drum of radius
1 m. The coefficient of friction between the block
and the inner wall of the cylinder 15z 0.1. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :

{g=10m/s%)

(1)  Jig radfs
10
— rad/
(2} 5 rads
() 10rad's
(4) 10 wrad/s

Two paralle]l infinite line charges with linear
charge densities +k C/m and — , C/m are placed
at a distanes of 2R in free space. What is the
electric field mid-way between the two line

charpges ?
(1}  zero
2X
NIC
@ Lo
h
; — NIC
®
: NIC
@ 2wep R

Two point charges A and B, having charges
+@Q and —Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transferred to B, then
force between the charges becomes

(n F

® i
(3) %
@ X
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4}  6.4x10%ming

a8, s t+6V

LED (Y)

”—L“‘;ﬁ—r{“ﬁ

e & iy g Pl vl e T
{1y AND

&) OR

(3 NAND

(4 NOR

Tr=fetian o & form v wfem &, fFo e oo 5
it = i g T e e A
g7
(1)
(2
)]

(4)

40.

HEA

wfErEf (FarE)
AR

SR ( FHaT )

WL SR 0,05 m2 F 200 W w5 B e
5x 1075 T 3 fFell Jrrsta &9 F v vt &)
T 6 TSl & T F, 0.1 « § 705 et aoae
9 F =l AN, 90° W/ it fem e & & oo

a2V
@ 02V
@ Ex1073V

4 0.02V

38,
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i
a of cross-section 2 mm? [Find!

A small hole of 8788 0° b " ly filled open tag), 40

nt near the bottom

FE e : s
A Ol et
M 12.8%x107° ma
(2 8.9% 10~ % m¥e
(3 9 29 10~ F m¥fs
@ 64x10"5mYs

+6V
0 .
Al LED (Y}
5 R
o
B |

The eorrect Boolean operation represented by the
cironit diapram drawn is

(1 AND
2 OR

(3 NAND
(4} NOR

Inwhich of the following processes, heat is neither
absorbed nor released by a system ?

{1} isothermal
{(2)  adiabatie
()  isobaric
(4} isochoric

A BOO turn coil of effective area 0.05 m? is kept
perpendicular to g magnetic field 5x 105 T.
When the plane of the coil is rotated by 90° around

any ofita coplanar axis | ;
in the eoil will be - s1n 0.1 &, the emf induced

n 2v

@ o0zv

(3 2x10-y
4 oo0zv
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o foen, T 5 SR, SR
4% ﬁfgﬂwa‘rmﬂ?ﬁﬁ w7 E |

wmmpﬁﬁmmmﬁy-mqmg:
i ;.-(t;l=~—3 cusE-.rt,ﬂE'r'_p mﬂ'%

@ ymsisin[%].aﬁymﬂ%

dwt

(3 J’(ﬂ=3m5[?].?-ﬁi,}r mi ¥

48, 20 wF Wi F Tl wamR ufem dufts = G
T deEm W g AEhE R W w
fava 3 Vi 1 o oftafia & @ &) oo i
Telte ST M, S e | T At e
Y] TR B

(1) 973, 60 A
(@) 60 pA, 80 pA
() 60 A, 7=
4 A

W T weim o i ofirdi A, B, C @ D g A
T et Afe = e WA 1%, 2%, 3% 37 4%

=

¥ WX w e = X = A® B 2, 1 afirway
0% pd

mﬁjﬁfﬂﬁ:

3

{1 [E]%

2 16%

@ —10%

4 10%

43,

44.

Pl

42.  Theradius of cirele, the period of revu].'!.lt.i{::n, ulltm]
position and sense of revolution are indicated in

the fig.

Plt=0)
T=4s

dm

- projection of the radius vector of rotating particle
Pis:

(1)  ¥(t)= —3 cos2wt, where yinm

N
@ yh=4 Elﬂ[?] , where y in m

(@ =3m5[3—'é"ﬂ],whereyium

(4 ¥(t)=3cos [%] , where y in m

A parallel plate capacitor of capacitance 20 pF is
being charged by a voltage source whose potential
is changing at the rate of 3 Viz. The conduction
current through the connecting wires, and the

displacement current through the plates of the
capacitor, would be, respectively :

(I}  zero, B0 pA
() 60pA, 60 pA
@) 60 pA, zero
(4} zero, zero

In an experiment, the percentage of error oecurred
in the measurement of physical quantities A, B, C
and D are 1%, 2%, 3% and 4% respectively. Then
the maximum percentage of error in the

2 E,!r‘é
measurement X, where X = will be
o' pd
3
(1) [E]ﬁ’
(2) 16%
B3 —-10%

4 10%



Hinc+Engigy

Pl 12 . | j i
indri R is carrying 5
A eylindrical conductor of radius :

46. T B ¥ fedt demmen S § T FEE A 45. mﬂlﬂnt o ot of the magnitude o
SR 91 T &1 geaenta 4, B o6 A G S the magnetic field, B with the clmltsmee. d, from
¥ A gh, 4 % o T e wd e Pt the centre of the con :%uct.ur, is correctly
H B g st g e &7 represented by the figure :

" n
@ & (1) E o
B d B d
B
? (2)
R 4

{3 {3

()
()

46, TZ-2-T9-4-9T9 H FAT (o) 940 () S Y

— 46.  The number of sigma (o) and pi (w) bonds n
HE pent-2-en-4-yne is -

(1) 10 o 3 9497 3 o 3T
(Il 10obondsandg mhonds

@) RoSEMAN5 ¢
2y  Bobonds and 5+ bonds

(3 11 o ATEY T4 2 7 Y
@  1lebondsand2 mhonda

(@) 13 o STEY A9 HE 6

4  130bonds and no = bond



i T A 4
g ™
/EH“ OH
o, 5
05, 4 l}‘{'.%. + HyC )LCI-Ia
3
o,
oL
CH,

i

CH,

i
HyC~C-0-0-H

(2)
CHy
1
0-0-CH
I
& CHs
CHE—{}-G—H

(4)

13

47.

Pl

The structure of intermediate A in the following
reaction, 1s :

_CH,
“‘»EHH
— z":' + H,0 /lkc.H3

CH,
|

'D"Clx
f CHg4

CHy
HyC—C-0-0-H

e

EH
DDCH

Q"

(4}
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8. T e b 5
o, § o
(1 ﬂ=£r—f:r-ﬁr-rﬂ
LB 0 ‘*‘ﬂ
D‘h ? .Fﬂ
2) D=§r—nr—ﬂr—n
ﬂ {|=_ '\.ﬂ._
_ﬂ‘ta- [U] ..rﬂ_
@ O Br-B-B-o0
00 4 o
0, ?ﬂ 0
‘:‘i} D=.FB'I"—ET—BE—G._
0 .._,'j_ 0

49, 4d, Gp, 5f T 6p FF T T 0w SR
ﬁ’l’ﬁ'?l'ﬂ'ﬂ’ﬁ'ﬂﬁq% =
(1} 5f>6p=>56p>a4d
(Z)  6p>5f>5p=4d
(a3} Ep:-ﬁ.f:bq.dh-ﬁp
@) 5f>6p>4d>5p

50, ?Hﬁfﬁmﬁﬁ#ﬁqmm@maﬁmﬁ E0.
@) 2Cu* = Cu?* +Cuf
(b)  SMnO{ ™+ 4H* - 2MnO] +Mn0O, +2H,0
@ 2EMnO; 8, K;MnO; + MnO, + 0,

@  2MnOj +3Mn* +2H,0 — 5MnO, +4H®
= | & it fawen 99 -

(1)  EE (a) 79 (b)

@ (&), (b) T4 (c)

(3) (&), (c) 4T (d)

() FEH (o) 79 (d)

51, THAN e H, 300 K W TE 9 2 a0 ¥ o ey | O
=® T F 5EE, 0.1 LA 0.25 L 7% vOR w0 §
e frm s &

(e & 1 fdew am =100 4]
() -30d
@ 65kJ
3 25d
4 30d

g

-
The correct gtructure u::ft._t'th'GNQDﬂEtumde s N
cor i
0, {I'? ;:?ﬂ
G=Br—!3r-3:-=ﬂ
1 #
(1} o 2 i
g 3 A
2 D=Er'Br_%I'—D
- b =
0 0 0 -
l] —_
D‘h Il -
(3 -G—BIFBT'—%]'.=G
BT i =
[#] 0 0
G
n"? I _,;:a-ﬂ _
O=Br-Br—=Br-0
i4) ﬂﬁ : *‘D
a

4d, bp, 5Fand 6p orbitals are arranged in the order
of decreasing energy. The correct optionis:

(1) &f=68p>6p>4dd
2 Gp=6f= ap = 4d
(@ Gp=56f=dd=5p
(4 5f>6p=>4d>5p
Which of the following reactions are

disproportionation reaction ?

@) 2Cu* - Cul* +Cy?

& MO} 4+ 4H* - ZMnO] +MnO, +2H,0
(9 2KMnO, 8, K,MnO, + MnO, + 0,
@  2MnOy +3Mn®* +2H,0 — 5MnO, +4H®
Select the correct option from the following :
{1} (&) and (b) only

(2 (a), (b) and (¢)

B (a), (c) and (d)

) (a) and () anly

Unde:;j isothermal condition, 5 gas at 300 K
expands from 0.1 L to 0.25 [, against a constant

exter
i iﬂn:ﬂl pressure of 2 bar, The work done by the

[Given that 11, bar= 100 J]
M -30g

2} 5kJ

@ 254

“ 304



_

6.

(1) Be
2 Mg
@ Ca
) Sr
5. e wom & o oed e s sfvenE
H,C CH,
H,C=-C=C-CHy ——
H H
fag-2-=3A
()  Na/#a st
@  H, Pd/C,FgEA
(3  Zn/HCI
)  Hg*t /HT, H0

36,

15
ﬁﬂﬂgﬁ'ﬁﬂﬂmﬂgﬂﬁﬁm:

qﬁgﬂaﬁw

el
(1
(V4]

ot (aq) + 21 (a) = 2Fe* ™ (ag) + L {ag)

208 KT, ESy= 0.24 VE| ¥ sifufiean =t v
fire et (4,GF) # ¢

e v &, TS TR F = 96500 € mol~ 1]

1 ~46.32 kdJ mol -1
@ —23.16kJ mol ™!
@ 46.32kJ mol !

@ 23.16 kJ mol™!

% TR 9 TELW, (ATP) ¥ 39dm wiEke ¥
A § F TS veenE F vy ¥ s g
T Y (M) T AT e, M E

H,E (E=0, 8, Se, Te 72 Po) % fer amdfta znfae
Eak: i

(Il H,8 <H,0 < HySe < HyTe < HyPo

) H,0<H,S <H,;8e <HyTe <H,Po

(3)  HyPo<H,Te < HySe < HyS < Hy0

62.

54.

(4 H,Se <H,Te < HyPo<HgO <HyS

a6,

B

Among the following, the one that is not a
green house gas1s:

(1)
(2}
(3
{4

nitrous oxide
methane

oEINE
sulphur dioxide

For the cell reaction

2Fed* (aq) + 21~ (ag) —» 2Fe®* (ag) + Iy(aq)
Eqy=0.24 V at 208 K. The standard Gibbs
energy (A,G®) of the cell reaction is:

[CGiven that Faraday constant F=96500 Cmol™ 1

{1} _ 46,532 kJ mol !
(2) -23.16 kJ mol ™!
(@ 4632 kd mol ™1
()  23.16 kJ mol ™!

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the cofactor,
Mis

1 Be
(2) Mg
(@ Ca
4 S

The most suitable reagent for the following
CONVETsion, 18

H,C CH;
HyC-C=C-CHy — /\=<
H H

cis-2-butene
(1)
(2)
(3)
{4

Na/liquid NH,

H,, Pd/C, quincline
In/HCI

He** /H*, H,0

Which is the correct thermal stability order for
H,E(E=0, 8, Se, Te and Po) 7

(1} Hy5 < HyO < HySe < HyTe < HyPo
(2)  Hy0 < HyB < H,Se < HyTe <H,Po
(# H,Po<H,Te = H,Se <HyS8 <H,0
(4)  HySe <H,Te < HyPo < HyO < HyS



P1
67.

1.8

61.

16
Pt % & =i e s €7
(n Fdeﬁ“ﬁ#Eﬂﬁﬁil
@ SiCl, st § - srute 7 W
@  GeX,(X=F,Cl, Br, I}, GeXy T Tow0 4014
=
@) SnF, = wFi sl §
Fre 1 i i
@ PEGTEET @ wn
®) T i) T e
@ FE i) I
@ = il Gv) HifE i
A AT TeE
P 5 9 i e il 2
(a) (b () (d)
L O @ @ )
@ G @ G G
® @ ™ @ O
1] e T & s e 8 9 fm fpmves
i T ° e - 7
® o,
@ N,
@ G
@ Bey

Tedta s & el % o wu s T
[ == A

(1) Li<=Be<B=C=<=N<0<F<Neg
(2) Li<B<Be<C<0O<N<F<Ng
3 Li<B<Be<C<N=<0<FzNe
{4 Li<Be<B<C<O<N<F<Ns
SrafERI aEw §

(1) -6, 6

(2) AR 2T 6

(3 TEER-6

(4) =I5

67.

G

5.

60,

61.

Which of the following i8 incorrect statemeny, g
1

(nn  PbF,1s sovalent in nature
@  BiClys gasily hydrolysed
m GeXy ({=F, ClL Br, 1) 18 more stable th,
GeXs
() SnF,isionicin nature
i
Match the following
(a)  Purenitrogen @  Chlorine
() Haberprocess (i) Sulphuricacid
(@ Contactprocess (i) Ammonia
@ Deacon'sprocess (iv) guai::_rn: :;?;E 2

Which of the following is the correet option ?

@ b @ (@
W @ G @ 6
@ @ v @ G
@ G v 6@ 0
@ v @ @ ®

Which of the following diatomic molecular specie:
hags only = bonde according to Molecular Orbita

Theory 7

m o,
@ N,
@ G
(9 Bey

For tl'u? second period elements the correc
nereasing order of first ionisation enthalpy is:

1) Li<Be<B<C<N<0O<F=<Ne
() Li<B=Be<C<0O<N<F=Ne
() Li<B<Be<C<N<0O<F=<Ne
(4} Li<Be<B<C<0O<N<F=<Ne
The biodegradable polymer is ;

(1) nylon-6, 6

(2} nylon 2-nylon 6

@ nylong

(4} Buna-S



Cg

{ﬂH}thﬂ;g’qﬁﬁﬁﬂqﬂﬂpH,ﬂ'%l Ca(OH),
{;.q
p.5x 1018

p25x 10710
0.125% 10~ 13

Dlﬁx]u—lﬂ

{1]
@
(&
(4]

umﬁﬁaﬁfﬂm#ﬁq?ﬁﬂﬂmkﬁlﬁr
W#gg%ﬁ@mﬁ#ﬁmmwm
Q) t=0693/k
2 t=6.909/k
@ t=4806/k
) t=2.3037k

o e S ST UHi ST R
)
@ TEA
@ T
(4 WEEE

g 49 5 afufen s S s |
Tied 9l B, § ¢

+
o Orier 8y
i ©+ Cl,—3, AlC, @—nmm

. @ +1, UV light
Cl Cl
(4) QCHEﬁll rg) TEFAR @—cugcu H,0

8. ;ﬁmﬁﬁaﬂﬁmmﬁﬂmmmt

(1)
(2)
@)
(4)

£l

W + ETew v
e + 5

THEM + e EREHTE
B 4 ST

Ly

62. pH of a saturated solution of Ca(OH), is 9. The
solubility product (K_) of Ca(OH)y 15
() 05x10-15
@ 025x10-10
M 0125x10713
) 05x10"10

63. If the rate constant for a first order reaction is k,
the time (t) required for the completion of 99% of
the reaction is given by :
(1) t=0693/k
@ t=6.909/k
(3 t=4.606/k
(4 t=2.303/k

64. The non-essential amino acid among the following
18 2
(1)  wvaline
(Z)  leucine
{3)  alanine
4  lysine

65.

Amang the following, the reaction that proeseds
through an electrophilic substitution, is -

(2) ©+ Cl,——=» el @—cn HC]

UV light
0l —5
@) @ =
a o
(4) Qcﬂgmm Hm’l‘i‘ﬂ‘nQ CH,Cl+ H,0

66. The mixture that forms maximum boiling
ageotrope is
(1)  Water+ Nitric acid
2}  Ethanol + Water
) Acetone+ Carbon disulphide
(1)  Heptane+ Octane
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P1

67.  TEmfE sfufie,
Nalg) + 3H,ig) = 2ZNH4(g). & fam

1 1 d[NH, |
3 dt 2 dt
d

2 dt

_ 5 dINHg]
dt

68. B W g, ST 6 20 e w ¥ e s
BRI i & i w1 wem g
(1)
2
(3)
i)

T i Fermnl SRR i o R R
Hf"””ﬂ‘h““H

) 4

58 B35

(1)
@ fﬁﬂx&
H,C H

0
(3) HEC’#’! EEHE

® g

UF SR e F o, ul fawen 2
() Ay S=o0fERTaywP W

(@) A VeofTBRTampwm

B A H=0FmTasmpw

(1) A G=0fERTampPwxw

AFE UHE H,0 791 HF & fam wigndt e &
(1) ®HE: OH- 991 H,F+

(2) FHEM: H,Of 9 F-

(3) wEE: OH- A4 F-

(4) T HyO* T HyF

0.

7l.

1

G,

70.

71

For the chemical peaction
NEIL{;’J + ﬂHg{g} = ENHE{E}
the correct option 15

1 dHg] _ _ 1 d[NH;]
M ~F a g

d[M;] = iﬂq—ﬂ:ﬂ-
(% T dt

dNg) _ 1 dNHs] 1
[t A T 2 dt

; d.[H ]' _ |:'I[I'~TH3]

SRS~

The number of moles of hydrogen r_:nnlecujgg
required to produce 20 moles of ammonia through

Haber’s process is :
(1y 10
(™ 20
@ 30
4 40

The compound that is most difficult to protonate
18 :

R e
0
@ He-  eH
0
@ HoT Tcm,
..-F""FJD
4 Ph H‘“ﬁﬂ

For an ideal solution, the correct option is
(1) A, 8=0at constant T and P

(@) An V20 at constant T and P

) ALxH=0at constant T and P

4 A

mix & =0 at constant T and P

Conjugate base for Brimsted acids Hy0 and HF
dare :

(1) OH- and HoF+, respectively

(2)  H,y0* and . respectively
(3 OH- andF- « Fespectively
4)  Ha0* and HoF ", respectively



19 P1
r&mﬁsﬂfﬁﬁﬂ“% s 91 T SRR FIEEE (AgI]l- | 72 Which mixture of the solutions will lead to the
72

= 7 formation of negatively charged colloidal [Agl]L™

@ ® s " sol. 7

5 1 M AgNO, 150 mL+ 1.5 M KI %1 50 mL () 60mLoflMAgNO;+50mLof 15 MKI
1 M AgNOy 1 50 mL + 2 M KI5 50 mL @ 50mLof1MAgNOy+50 mLof2 MKI

a M AgNO, 150 mL + 1.5 M EKI =i 60 mL &  50mLof2MAgNO,;+50 mLof 1.5 M Kl
f ) 0.1 M AgNO, T 50mL 4+ 0.1 MKl 50mlL () 50mLof0.1MAgNOg+50mLof0.1 MEI
! 5 50 (i ey i T . 73 .ﬁ,m_.;ufg Lt]}e‘fnlluwing. the narrow spectrum
ng, A antibiotic 1s :
g TG (1)  penicillin G
i T i {2y  ampicillin
(@ qmﬂﬁfﬂ'ﬁﬂq (3)  amoxycillin
g TR )  chloramphenicol
CAM O T T — et oo 4. Analkene “A" on reaction with O, and Zn - H,0
| ™ ﬁ gt A, Oy .::...‘n Egl) w gives propanone and ethanal in equimalar ratio.
+6 T OEIEI S W W 99 U 23w Addition of HCL to alkene “A" gives “B” as the major
R An, HOl Fen w B g e S e product. The structure of product "B” is:
i T B W EE R
CHj4
|
CHy () Cl-CH,-CHy—CH
{1} Cl= EHE_EHE_?H EHH
CHg
CH,CI
CH,CI

|
@ HyC-CH,-CH-CH,
@ HyC-CH,-CH~CH,

CH,
CHy @ HyC-CHy-C—CH,
H.C-CH,-C-CH '
(3 a 2 : 3 0l
1
CH,
|
CH,  HaC-CH-CH
C-CH-CH ' b
T Cl CH,
Cl CHg
75. What is the correet electronic configuration of
. TEee iE fealE F A WK [Fe(CN) ] # %=1 the central atom in K, [Fe(CIN)g] based on crystal
Y < TeR fan i field theory ?
4 2
Mty el M)ty e
: f 0
@ e @ Tty
[H] E'E' tz {3} HE Li
4 il @ o't
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20
78. ﬁﬁﬂﬂFﬂlﬁﬂmﬁﬂﬂWWﬂﬁm:
(L Fﬁﬂnmaa‘f?—mammqmgmﬂu
20°
w0 T
@) B HE P - C) 31y g #1807 F
T F
@ 4 P-Cl sy, weEe Pl smaed
w T A e e
(4)  PCly 3 smfufiamite &)
77. g oty e 33m 7
(I} 0.1 M NaOH %150 mL+0.1 M CH,COOH
I 25 ml.
(2 0.1MCH,COOH % 100 mL+ 0.1 M NaOH
w1 100 mL
(@ 0.1 M HCI¥ 100 mL+0.1 M NH,0H &
200 mL
() 0.1 M HCIS 100 mL+0.1 M NaOH =1
100 mL
7. R afFmaigmaet
COOH :
+ NH, A
COOH
COOH
(1)
CONH,
(8
@ NH
COOH
NH,
NH,
NH,

e

[t
P
Identify the incorrect statement related to PCL, -
Th. enti 200E -
tﬁ:::f::;:iml P — (1 bonds make an angly
e af 120° with aach other |
Two axial P—Cl bonds make an angle of 18(¢
(Z) ol
with each other
(3 AxialP-Cl honds are longer than equatona]
P - Clbonds |
() PCl; molecule is non-reactive
4 +
77.  Which will make basic buffer ?
() &0 mLof01M NaOH+26 mL of 0.1 M
CH,COOH
(2 100 mL of 0.1 M CH,COOH + 100 mL of
0.1 MNaOH
(% 100 mL of 0.1 M HCI+ 200 mL of
0.1 M NH,OH
(4) 100 mL of 0.1 M HCl+ 100 mL of 0.1 M
NaOH
78.  The major product of the following reaction is ;
COOH
+ NH strong heating
: . 3
COOH
COOH
CONH,
a
« [ | NH
C :E-‘DGH
’
NH,,
NH,

(4}

2

I'~II-[2



(xiz)
(v}

(c)
(i)
(iv)
m
{

(b)
{u)
{in1)
{ii1)
(iv)

L
(2
(3
{4

e AU TR A TR w0 § SR T,
T

(1

]
i)

- T BT o d- T e
¥ p-FuE T A g

- SERF T ¢

- ST p-E e S
¥ pFEE T AT T

= HEAA § SR F d-FYF 5 919 e
F d-FEw o AT g i

(2)
(3

()

o1 & & i o et vl i & 7
(1) [SiFgJ%-

@  [GeClyJ2-

(3 [Sn{OH)g]2-

@  [siCl-

U HE % femw, fomil v o ofimfem £, 208 K

T Egy= 0.50 V¥ & sifufirn ¥ o ar fomis
&

[ﬁ:‘m TR T = 208K W, LSBT - 0.059 V]
(1)  1.0x102
2y  1.0x10°
(3 1ox1pWw
(4 1.0x10¥W

Ta.

Bl.

g |

Match the Xenon compounds in Columm - I with
its structure in Column - 11 and assign the

correct code :

Column -1 Column - 11
(a) XeFy i)  pyramidal
hy  XeFy (i)  square planar
) XeOF, (i) distorted octahedral
d Hely {iv) equare pyramidal
Code :
(@ (b) (e (@
(@ @ (o )
@ @ @ v @
@ G @) @O v
4 G v @ )

The manganate and permanganate lone are

tetrahedral, due to:

(1)  The w-bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

2) There is now- bonding

(3  The - bonding involves overlap of p-orbitals

of oxygen with p-orbitals of manganese

The =- bonding invelves overlap of d-orbitals
of oxygen with d-orbitals of manganese

(4)

Which of the following species is not stable ?

D [SiFg2-

(2) [GeClg)2-
(@  [Sn(OH);)2-
4 [SiClgl*-

For a cell involving one electron ES; = 0.59 V at

_2931{. the equilibrium constant for the cell reaction
ig

[Gi‘lﬂm that w = 0.059 VatT= 298 K]
(1)  1.0x10%
(2) 1.0x10%
3 lLox1p0
(4  1.0x 100



P hoteris &g,

P
22 . g an AMm
il 13
8. = F A w0 o v eegteme ) 83. Whi““.d";f...th& Sl
(M SrOH), hydrox: -H
2 CaiDH), (1 SriOH}
3 MgiOH), 2 CalOH)
4} Be(OH), (@  MelOHk
OH)
B4. 350 W P
0 K 74T 15 =7 97w g e s, 5 i 5 bar has molar volume 90-
T

: o # 20 winym A ¥ fra oy | 84, A gas at 350 K and o
20 percent amaller than that for anidedl B
pption about

EE HATEA T (Z) § e # w ey § *he same conditions. The correct :
() Z> 1T s w o the gas and its compressibility factor (Z)is:

@& Z= 1w wfd a9 wpm € ) EZ=land attractive forces are dominant

B = lmm'ﬂﬁmf (@ = are dominant

M E=1 Hﬂimﬂam? ) I
() Z<1andrepulsive forces are doml

y cation C and anion A
close packed (hep)
76% of octahedral

7 = | and repulsive force

Z<1and attractive forces are dominant
nant g

85. T T W C 7 WO A F i ) e
TR GEFTET (hep) TEE =90 § 99 WA

85. A compound is formed b
The anions form hexagonal

i -
;'E_ et fifwrdl % 75 v vy & A = lattice and the cations occupy
: voids, The formula of the compound is:
(1 Gy (1) Cghg
@ CaAs @ Csdg
@  Caiy @ C
@ Gy (4) cf
1
g6, foofmfad S
'[Ii'!"fi 5 e e g 7 86.. Inwhich case change in entropy 18 negative ?
(1) = = AT (1) E of |
vaporation of water
(2) T
o w1 U 9 5 vER {2)  Expansionof a gas at constant temperature
(3 1 § ST {3  Sublimation of solid to gas
(1)  2H(g) — Haig) (40 2H({g) = Hal(g)
87. ]
mm?ﬁ H, P15 4 AR e | 87 Which of the following series of transitions in the
il & spectrum of hydrogen atom falls in visible
(1) A A o
(2)  HT g W - gmanaig
(3) W A .:{:}} A
Paschen series
(4)  #F2 A (4} Brackett series

88, S &I T :
Fana g2H i o v fafy & 88.  The method used to remove tem
o iy of water is : Pofaty bardpes
o e (1) Calgon's method
o il l_i i 2)  Clark's method
. S l:-.-ﬂq““ Iﬁﬁ (3 Ton-exchangg method
AT ) Synthetic resing methad
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o1 ¥ 1992 H feddt € 5 3 wem e ekt W

23

CuFeS,
Cu(OHlg

Fe;0y
Cul0,.Cu(OH)p

(1
(2)

(H
@

et faera A fee Wi T o ST S
Eog gLk

() (CHy),NH>CH;NH,>(CH alyN

@  (CHy)sN > CHgNH, > (CHy),NH

() (CHg)sN > (CHy),NH > CHyNH,

(@) CHyNH, > (CHg),NH > (CHglgN

fFmmama?

(1) CO, T 4R Hfeas wor = 79 FH &
o

(@ efatam F g fre ofn wE e F
SRS 39 & fa |

(8) TR g A g e i v
=ifan & gegis ¥ fan

O HIE (CFCa) 3 399 1 T T
0 F e S s e mam R

4

THHEY & SRAE 24 § 5 g wies T v
HEARET TR wfwen wem w0 % fow s

HETET § i T At 6
() ST He i
(2) TSR

@ v

@) vEArEEET A

Wﬁﬁﬂﬂﬁmﬁmﬂhﬁﬁwﬁﬁnﬁ

G A ﬁﬂﬁﬁﬂﬂﬁﬁ?ﬂﬁiﬂﬂﬂmﬁmm
T4 whifan :

(1) T EFE I

@ FeirE wfrEE - fafm e

(3) ﬁﬁtqﬂhﬁmﬂiﬁmﬂﬂﬁfﬂfﬂﬁm

@) =fea o Twifay

a9,

91.

92,

| 2 |
Which one is malachite from the following ?

(1) CuFeS,

() Cu{OH),

@ FegOy

@) CuCOyCufOH),

The correct order of the basic strength of methyl
gubstituted amines in aqueous solution is

() (CHj)gNH > CHyNH, > (CH,),N

(@) (CHg)3N=CHyNH;>(CHg),NH
3  (CHg)4N > (CHg),NH > CH,NH,
(4) CHzNHy>(CHy)pNH > (CHg)sN

The Earth Summit held in Rio de Janeiro in 1992
was called :

(1)

to reduce CO, emissions and global
warming.

(2) for conservation of biodiversity and

sustainable utilization of ite benefits.

(3)  toassess threat posed to native species by
invasive weed species.
(4) for immediate steps to discontinue use of

CFCs that were damaging the ozone layer.

ﬂulgst.rum._t]_le vellowish fluid, secreted by mother
dU_nng tl:ula imtial days of lactation is very essential
1::: impart immunity to the newborn infants hecauss
1t containg :

(1) Natural killer cells
{2} Monocytes

(3)  Macrophages

4 Immunoglobulin A

GGrass leaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

(1}  Closure of stomata

(2)  Flaccidity of bulliform cells

(3  Shrinkage of air spaces in spongy mesophyll
(1) Tyloses in vessels
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P1 24 i and longer arme of o qubhmetacentric B
L mmwﬁﬁﬂm@ﬂmaﬁﬂﬂﬁﬁ i r_'hlijm-ﬂﬁumﬂ are referred toA6- 9. 4
#: (1) s-armand |-arm resp ectively ;
(1) SRR o- Yo O -V (2y  p-armandg-arm respectively ¢
(2) R p- VA U g - (%  qarm and prarmn regpectively {
(3) - Y U p- (#¢  m-arm and n-arm respectively |

IH'} bR = "qﬂn_‘iﬂ-r B -
B g5, Roegpiratory GQuotient (RQ) value of tripalmitinis: o

(1y 09 @ 07
@ 07

3 0.07
(@ 007 8)
M) 0.08 4 009

g6, T H 99 v Siawm v W o wEmies | 96 Which of the following i& & pommercial blood
: cholesterol lowering agent ?

FAFE ¢ i
clogporin
(1) TEFAEEEA 5 :ﬂt:ﬂ
@ =fF = _
L {3} Streptokinase -
@ TR (4 Lipases 1
() EEE
. 97. Match the following structures with their
97, Ta= "oaE =0 o § o e w Wy e respective location in organs :
WA ; fa) Crypteof Lieberkithn (i) Pancreas
(a)  ETEREA-WE iy EEH (b}  Glisson’s Capsule (i) Duodenum
) e E Gi) e (@  lslets of Lanperhans (i) Small
@ @mEEE i) R i
@ TR St ) T id)  Brunner’s Glands {iv) Liver
P - " Select the correet option from the following :
@ b © @ AN e 1
G @ @ Mm@ 6 6w
@ G v @ (G (2} ) @) G ()
@ G v @ @ @) G v 6 )
TNl R wE # A I W A o | es :
: + Which of the following is the most im
; portant cause
Frefafem § § 97 W 999 'Hﬁ"{jﬂ FRE 7 fr:;_i ﬂn:u:u:.ls and plante being driven to
(1) ST e T e Finetion”
@ @ Bt (1) Habitat loss and fragmentation
a (2)
@  snfie Drought and floods
@) Economicexploitation

(qy faEeit =i F s i

Alien epecies Invagion
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101

02,

1k,

(@ o W T Wi

3 < g9 = T e Tt g € % e
Wt fames 9fm)

() iEfe, sndtdr vd wE

(2) e, snyiie e e

(3  STETETEr, Here U8 Hisd

(4)  Trafes, Hee uE wied

T F amewaE § TE 3 ARy w1 & aa
T T

(1) T — o — T — Tt g
e — T

(2 TEA — TR — T — T — g
— FIeH — 1920

(B T — - Tl - ey - T
— TEH — TR

) TEE — O s o W Y
— e — T

Fefafen 4 | il & 29 @ 78 ofn wovE F

o e = 5 T 22

(1)  =iEm =i s

(2) i e

(3 e 3R gzt

(4) A TS #n i

et & % 0 rvirg e et 2

(1) A

(2) mm

(3)  wmE afEm

@ fem

g8,

i4)

1l

Which part of the brain is responsible for

thermoregulation ?

(1)  Cerebrum

¢(2)  Hypothalamus
(#  Corpus callosum

Medulla oblongata

100. Consider following features ©

(a) Organsystem level of organisation

(b

{ch
Qalect the correct option of ﬂnim?l groups which
possess all the above characteristica,

Annelida, Arthropoda and Chordata

Bilateral symmetry
True coelomates with segmentation of body

(0
(2 Annelida, Arthropoda and Mollusca
(9  Arthropoda, Mollusca and Chordata

()  Annelida, Mollusca and Chordata

101 Select the correct sequence of organs in the

alimentary canal of cockroach starting from
mouth :

(1) Pharynx — Oesophagus — Crop —
Oizzard — [leum — Colon — Rectum
{2}  Pharynx — Oesophagus — Gizzard —

Crop — [leum — Colon — Rectum

(3) Pharynx — Qesophagus — Gizzard —

[leum — Crop — Colon — Rectum
(4)

Pharynx — Oesophagus — Ileum —
Crop — Gizzard — Colon — Rectum

102, Which of the following pairs of gases is mainly

responsible for green house effect ?
() Ozone and Ammonia

(2} Oxygen and Nitrogen
(#)  Nitrogen and Sulphur dioxide
(4)  Carbon dioxide and Methane
103. Which of the following muscular disordets 18
inherited ?
(1) Tetany
(2)  Muscular dystrophy
(#)  Myasthenia gravis

(4)  Botulism



_____ —
i ad to MOVe
P1 26 d Epilheuﬂl pells 8T€ E':Idjm::::hﬂn- Iy
L . =4 .
104, e e ST WO A W O | 104 :ffﬁﬁtir muﬁ ;’:ﬂ " inly presentin
mﬁ?ﬂﬂ-mﬂqﬂﬁtmmﬁgl LG humans, these c& : oles
¥ 4 wiforernd aofem o £ 1y Bileduet and Brﬂﬂ‘; " atic duct
i1y To= wfet o v o @  Fallopian tubes &0 Salivary duct
@) Tt o apmmrt e A 3 Eustachiantube e .. tubes
i) mqﬁﬁqﬁmm ﬂ {4} B:H}Iit!hiﬂlea andFaﬂlﬂPmn
4y  vEwFEE] T fEaniEie d ) N | &
106. Match the Column - I with Column g
105, Y- 1 %19 - [1 9 fiem Fifam Column -1 Cuhm —
: . Jsation
Y- wY-11 (a) P-wave @) ﬁﬂiﬂ:ﬂ
a) P.Fim W e = ~ larisation of
Ty () QRS complex ® Eﬂh‘iﬂlﬂ? -
b QRS Tfimg (i) om0 B
T et @ T-wave o ischeng::
W i) PR g @ Reductioninthe (iv) Depolarisation of
) T-FEEER G e size of T - wave atrd
# it fervEam (v  Repolarisation of
{?} it = atria
A g Select the correct option.
e Ty 51 999 wifmy (@) (h) () (d)
(a) (b)) (o) (d) L 1 N N I 1
O @ @® @ ) @ i W {1y (v)
i g G 88 U
i L
4 @ @ v ()

M @ @ & G
106. Fifetem & 4 % uw Safafav & wwar g | 106 Which one of the following is not a method of

in sifu conservation of biodiversity ?

=1 fafiy il 27

() i & P

@ s S

(3) ErefTE TE @  Sacred Grove

(4)  wiET T

107. In a species, the weight of newhbor
107. TS AT H AR 2 B b kg F AT B 2 to 5 kg. 97% of the newborn wi?hrﬁﬂg“ B

8 H 3.3 ke ofEm 99w a9 97% TaE i ® waight_ between 3 to 3.3 kg surviye wher:::ﬁ‘iz
AR 2 R 2.5 kg WA AU 4.5 7 5 kg 7T 99% “ff“.’ :ﬂ“;ﬁ“df“rmﬂﬁ weights from 2 tq 2 5 |
T T M| el R W v :: ta-]zing plsce E e of selection process
(1) T Fm (1)  Directional Selection
(@) RS T ' (2)  Stabilizing Selection
(8 foErE (3)  Disruptive Selection

(4) A (4)  Cyclical Selection
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108, I E s A EA AAAE?

1o,

1140,

111,

112.

|13

19 M—=G =06, =5
@ 6= G 8- M
@ 8-=G =G —+M
i) Gl—;S—a-GE—%M

Frrsts G w1 s e Y TR ERIEE
FAE?

(1) =i e H T "REE |

(2)  DNA T S T - R i e |
@ e faeen © fem TR AMP AR

FE |

) TR A F AT W2 W
T FTE |

e i w2

(1) T § uge o W eI UaEe g
£l

2y  FETEE % A ATHE TAEd ey ph
o Taramsits v 81

@ T T 4 T g g £

() T s i e v e
T EN

Teft e # faies % wvew faww % fawm

TreAfefEs # | i ° & e §

() Emg, va d fasfag am &

@ e,y H fowan g E

(3 e S g § e g

(4)  @raTE, -y o fawad g E

FIhaieT - A FE7?
1) WS

2y arerEitE T

(3 TN

(4y =i

W#ﬁﬂﬂﬁmaﬂﬂﬁﬁm#ﬁﬂw
= T % To FrefatEn § @ 99 8 a9
AT Bl § 7

(1) =302 FemiEy
{2 ¥AFHO ITEH
(@ i A
() et

L

108. The correct sequence of phases of cell eycle is :
1 M-3G—Gy—5
@ Oy Gy — R |
3 B-»Gy—Gp—? M
@) Gy—=5— G, =M

109. How does steroid hormone influence the cellular

activities T

(1) Changing the permeability of the cell
membrane,

{2y Binding to DNA and forming a
gene-hormone complex.

(3)  Activating cyelic AMP located on the cell
membrang.

() Using aguaporin channels as second
MEesaEnger.

110, Which of the following statements i not correct ?

(1) Lysosomes have numerous hydrolytic
ENZYIEE.

(Z)  The hydrolytic enzymes of lysosomes are
active under acidic pH.

(3  Lysosomes are membrane bound structures.

{4) Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

111. Which one of the following statements regarding

post-fertilization development in flowering plants
is incorrect ?

(1)  Ovary develops into fruit

(2 Zygote develops into embryo

(3)  Central cell develops into endosperm
) Owules develop into embryo sac

112, Concanavalin A is -

(1) analkaloid
(2) an essential ol
()  alectin

4}  apigment

113. Which one of the following equipments is
easentially required for growing microbes on a
large scale, for industrial production of enzymes ?

(1) BOD incubator
(2)  SBludge digester
(#)  Industrial oven

(4)  PBioreactor
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14, T35 s ) ey o o

115, ;’r?.q. TR SR, S T e iR A
?
(1) ufeEm i et
2 ufEsm i e
(3  TEER R R
(4) TSN 3R g
116, 1 5 69 5 IR Fiomma & i Sud w9 =
T F
(1)  FUM - HAMFTM - 7qF FfeFE —
TN AETHE, — T T — g7 A0
@ AFTE e — g aiEEn —
T alfewnd — e - I T —
wm—ﬂﬁﬂﬂf —:r'{l‘%?l'tﬁzﬂ
(3) I Ao — Y Al — sfugmm
— e e — g7 T
(4 T — ATHFIT — I AT — [ T
—:Fﬁﬁ'ﬂﬂﬁl’ﬁ:ﬁ'—pﬁﬂﬂﬂm—rﬂ??ﬂf—}
e Hied
117. #ifEl #1535 af ofas o & 9y fiem
ifa
(a) & Efafes 1 900ec
by B AT (i)  1350ece
() B EtET (iif)  G50-800ec
W) EE Aty {iv) 1400 cc
e faweq =1 991 Fifau
(a) (b) (e} (d)
(L @) @ v G
2 () @ @ )
(@ (i) vy @ ()
() vy () @ ()

(A)  HEvETE s g s W CEEE WEE
TN R 59 B, wiredifew o FEe
(B) o i ey 4 s el e T,

TSI FEE
am e 1 T v
(1) = (A) o (B) e
(2} (A) 7= A (B) s B
(3) =l (A) TH (B) 2w E
(4)  (A) =7 B A (B) 99 E

113.

116.

117,

Lowing statements: '

b 1 is tightl
e tal jon that is tightly
' me .
{A) Coeny fﬂ:::ntein iacalled "”m“‘:mq_ |
t.n-:nm"T' te cﬂtﬂ]}rﬁc au::t_.i.\-'c enzyme with j,
o ﬂan;:fusﬂwm group iscalled apoenzyy,
L
{ optioi.
Salect the corred |
(1) Both (A) and (B) BTE true
@ (A)s true but (B) 18 false-
(3 Both {A) and (B) are false.
) is true.

(A) is false but B\

(4}

Purines found hoth1n DNA and RNA are :
(1)  Adening and th}lmlme

()  Adenine and g‘l.lﬂ.'l'l-'llflE'

(3 Guanine and cytosine

(§) Cytosine and thymine

Select the correct sequence for transport of sperg
cells in male reproductive system.

(1) Testiz = Epididymis — Vasa efferenty
—» Rete testis—Inguinal canal — Urethy,
Seminiferous tubules — Rete tests
— Vasa efferentia — Epididymi
— Vag deferens — Ejaculatory dug
— Urethra — Urethral meatus

Seminiferous tubules — Vaza efferentn
— Epididymis - Inguinal canil
— Urathra
Testis — Epididymis — Vasa efferentis
—+ Vas deferens — Ejaculatory dud

=  Inguinal canal — Ureths
— Urethral meatus

(2)

(3)

(4

h?at:h the hominids with their correct brat
gize :

(@)  Homo habilis @  900cc
®  Homo neanderthalensis (i) 1350
(€0  Home erectyg (jii) ~ 650-800¢
) Homo sapiens (iv) 1400cc
Select the correct option,

(@) () (o (d)
O @ 6 g @
L ) M ()
@ @ ey g (i)
@ (v ) @ )




118, ¥ % 5y 2 ot 7 wefan faen T oefeea &
o fafvsmrd wt #, o5 St ot 7

(1
(2
(3
(4

118, = wifsrerime & g § fipg 8 DA T g 7

(1)
(2
(3
()

120. =73 B S Usi U5 Weweh & SV T T o
T S T o, o v s £ A

vifea ¥ =it

() Afe e e s = e gt

(2) T U e e

@) R S e e e e
&f |

() =IERER ¥ o Oe Oiegw o wEn s

2l. e R T T

(1) T FEmE e i §)

@) T fegEl 7 s0% wEpEd § fev-ongw
0 |

@) 9 g F el W e g v
T e & 1 =T s

@) W T T fem-Ta g
TEA B A 2

2. S0 S 3w A e I s Fn

AL R 9 fEm o w2

(1) A

(2) Eifad gdElE |

(3)  =EF aoae T fdEtE |

(4)  yitfod wemEs |

29

wgiers i s
gt i feamiem
et 37 femm
et #i fewmie

HAFITH US oA
FEARTEE TH Tt
T U TR
TR ST U

(1}
(2)
()
(4

(L
(2)
()
()

(L

(2)
(=)

(4)

(1)
(2}

{3)

()

{1)
(2)
{3)

()

1

118. Variations caused by mutation, as proposed by
Hugo de Vries, are

random and directional
random and directionless
gmall and directional
amall and directionless

119, Which of the following pair of organelles does not
contain DNA Y

Mitochondria and Lysosomes
Chloroplast and Vacuoles
Lysosomes and Vacuoles

Nuclear envelope and Mitochondria

120. Due to increasing air-borne allergens and
pollutants, many people in urban areas are
suffering from respiratory disorder causing

wheezing due to:

benign growth on mucous lining of nasal
cavity.

inflammation of bronchi and bronchioles.

proliferation of fibrous tissues and damage
of the alveclar walls,

reduction in the secretion of surfactants by
pneumocytes,

121.  Select the incorrect statement,

Male fruit fly is heterogametic.

In male grasshoppers, 50% of sperms have
no sex-chromosome,

In domesticated fowls, sex of progeny
depends on the type of sperm rather than
ERE.

Human males have one of their
sex-chromosome much shorter than the

other.

122, DNA precipitation out of a mixture of hiomolecules
can be achieved by treatment with :

[zopropanacl

Chilled ethanol

Methanol at room temperature
Chilled chloroform
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124, mﬁmﬂﬂ'ﬂq‘qﬁ‘“
(1) ﬁﬁwmﬂﬁwﬁr
(2 ahmﬁ;ﬁw#ﬂz‘ .
B % form s B
(3) 375 wir A S w1
% 5t S e T
)  owaT = e He v st e
& I H e o i
125, Frer et W 39 g e we @ g
FHifaw
(VI =i o 6 T
by  HeTEEE @ =
wiifat
() GEE (i) ks o
@ gHERwETEEE v wE
(v)  TEifEE A
we foree =1 = Fifa
(@ M @ @
O @ v G
@ @ W @
@ @ @ ® 0
@ @ O @
126. WEirE & vk 1 fa =1 o i ot a8
() AR
(2 T
(8 e
4y Ta-Tegmmt
127, o e H A ges fa fien F yo i gfiefi

(1) =g
@ T
(3)  HE Hedd
(@) s

n 3
123, Select the ringiensis,

124.

125.

126.

127,

{1
{2

(3
4)

Select the incorrect state

(1
(2

(3
@

%
Hus Hh Tobacco mosy,
Boctllisd ¥
irus, Aphids _
Trichoderiid, ﬁ;ﬁww
s thurt _ ‘
g:::zumma. Rhizobim, Trichodermg
rrlliianm,

tog, AspBPLILEE-
er : UL LLE

Nu-:!-ﬂ'-‘,!?ﬂl!}’ﬂfd"
ment.

peding inereasts hﬂmﬂz}fgnmt;.r

Inbr .
asential to evolve pureling,

Inhreeding i8 €

in any animal. |
Inbreeding selects harmful recessive gene,

that reduce fertility and productivity,
Inbreeding helpujrmmﬂmulﬂtiﬂ_n of Superiy,
genes and elimination of undesirable geng,

Match the following organisms with the produes,

they produce :

(a)
{b)

(e
(d)

Cheese
Curd

@)
(i)

Lactobacillus
Saccharomyces
cerevisias
Aspergillus niger
Acetobacter aceti

Citric Acid
Bread
Acetic And

(idi)
(1v)
(v)

Select the correct option.

(1)
(2)
()
)

What is the direct

(d)
{iii)
v)
(i)
v)

(c)
(v}
G
)
(i)

(a)
(ii)
(ii)
(i)
(1)

(b)
{iv)
(iv)
(iv)
(i)

1on of movement of sugars in

phloem ?

(1)
()
)
()

In pome plants,
embryo withou
is known ag -

(1)
()
(3)
()

Non-multidirectional
Upward

Downward
Bi'djreﬂﬁnna]

the fErIII ale gamete develops in¥
tfertilization. This phenomenc®

ﬁutﬂgam}r

Parthenocarpy
Syngam}r

Pﬁnhem:'gﬂhegis
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[ Soped 81
128 i H sl drmrewT w5 w0 e 128, Persistent nueellus in the seed is known as:
iy Favm (1) Chalaza
2y uftypmm 2y Perisperm
{3 T (@  Hilum
(4)  FTFE (4)  Tegmen
129, TR wATad & fraim F fom 9 96099 | 120, What map unit (Centimorgan) is adopted in the
T (G ) ST w7 congtruction of genetic maps ?
(1) 10% i8S w Frefim o o, & afvsra (1) A unit of distance between two expressed
Wl % T g F O genes, representing 10% cross over.,
@ 100% Fi s Pt w0 g, & sfvemm (2 A unit of distance between two expressed
St s g genes, representing 100% cross over,
(3 A unit of distance between genes on
@ 1% HfTE' s # P+ B, TR W chromosomes, representing 1% eross aver,
S % 4 ol uE
(4 A unit of distance between genes on
() 5':"?? i i = el w0 g, s W chromosomes, representing 50% croas over.
ol 3 e = i o
130. What would be the heart rate of a person if the
130, af% T =f 1 % Fre 5 L, srgfofuer & ofa & cardiac output i 5 L, blood volume in the ventricles
Fereft 4w s 100 mL e Fremt vgem & afn at the end of diastole is 100 mL and at the end of
o 50 mL ¥ 79 SHF! 789 =1 79 2t 7 ventricular eystole is 50 mL?
(1) 50 %9eq ufy fiae (1}  60beats per minute
@ 75wz v fige {2}  75beats per minute
() 100 ¥He7 9id fosz {3 100 beats per minute
4 125 =7 ufg fre (4y 125 beats per minute
131 e, <iamel = o A &, 5 feetafaa § | g G e
AR = : L. Thiobacillus iz a group of bacteria helpful i
R = FE A e w0 f carrying out : R
@ A Rl () Nitrogen fixation
(2} TR T Frde (@ Chemoautotrophicfixation
@ ®  Nitrification
4 fﬁ-‘l@'ﬂﬂ'ﬂ:
t (4)  Denitrification
152 A % i o TeT0 e &9 1 0 St | 192 Which of the following factors is responsible for
%7 the formation of concentrated urine ?
(1) e T frer v (1) Low levels of antidiuretic hormone.
(2) TR Al gt S = (2)  Maintaining hyperosmolarity towards inner
H "
i AT AT T | medullary interstitium in the kidneys.
(3) IR wieEE Wi (@) Secretion of erythropoietin by
= | BRI -l Juxtaglomerular complex.

: Hydrostatic pressure during glomerular
(1) T e & S g T S b 5
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134,

135,

136.

137.

M) = forewit Fmtoreel & e, FoA o

W & form wromes #
@ wwh v & gaen e e
AT Ta &
(3) i ferest siqaerl 3 ar watem g
) FEf aard § T e DNA A T
TG B E
WA ] e S g 7
() e T
(@) Ew ww i wfe e
@)  Faw 9w, ol we o o SEE TReE
ol
(4) e, wh e, Fo St g v e
=
Gy, WTE § FIfe .
(Iy e =% 3 e St ¥
2 i AN
(3)  ifeE =% = i R e
(4) IR W F WA w2
qeil & =it Torl o = F foawm & frefafan § 4
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(1 FifFFEFEHIIEIeE M TSI T
I9A B I UE Hae g
(2) (i) i S v & w0 Faw
& TR 11 ST TR I 5 T - HE: e
I YT I
(3) et B, e ¥ fafiem @ i
B £
(4) i wfzasg aE F 9§ afte e
e T8l Bl 6 |
frefafa & & #= @ witfaft fife ome:
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134.

135.

136.

137,

"

1c i Ii F tll [E u—tg E )

ﬂl] ] il c{l‘[‘l‘fﬂ 1 td.]“
I-n

-t-ﬂﬂ].'lﬂl'l-lil"lﬂ. 18 ; 1 E
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Enzymes of electron transport are ﬂmbﬂﬂdgd
n ol

[nner memhbrane
infoldings-
; ' taing g
ndl“ﬂl matrll{ ﬂ'ﬂn amﬂg

NA molecule and ribosomeg,

(e

oy membrane:
is convoluted Wity

()

Mitocho

{4) Jar D

Xylem translocates:

iy  Water only

@  Water and mineral salts only

(3  Water, mineral salts and some orgay;,
nitrogen only

(4) Water, mineral zalts, 50ME OFEANIC Nitrog,
and hormones

Cells in Gy phase :

(1)  exit the cell cycle

(2)  enter the cell cycle

(%  suspend the cell cycle
(4) terminate the cell cycle

Which of the statements given below is not tre
about formation of Annual Rings in trees ?

(1) Annualring is a combination of spring wo

and autumn wood produced in a year.

Differential activity of cambium causes ligh
and dark bands of tissue - early and lat
wood respectively.

Activity of cambium depends upon variati®
in climate,

(2)

(d)

Annual rings are not prominent in treest!
temperate region,

(4)

Which of the following ecological py ramils ©
eenerally inverted 7

(1} Pyramid of numbers in grassland
@ Pyramid of energy

@  Pyramid of biomags in a forest
@) Pyramid of biomass in a sea
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¥

3
mnﬁmﬁmmmﬁﬁﬂﬁwmm

qﬁnﬂaﬁfwﬁwmqﬁhﬂﬂmﬁmﬂﬁﬁ?
qy s

(3 fi
() EEEET
138, mﬂmﬂmmmﬂﬁﬂﬂmﬁ
oma R E S ?
(1) HTeEE W
@ R R
(3 TireEET S
() P T

140. ﬁﬁﬁﬁﬂﬂ‘ﬁﬁﬁ%aﬂﬁﬁgﬁqlﬁmmm
&7 .

() T aFE, Tifeal, s i
@ iy fafE] e s, it

(8  CuT, wifer, s mifs

(4)  iferar, s i, Ty

141. T S & wE e v v i e
wHY: 500 mL UF 1000 mL ¥ 3fy smfime smame

1200 mL 71, 79 591 f1.7507 e ¥ gt ?
(1) 1500 ml.
(2) 1700mL
3 2200 mL
(4)  2700mL

142. WeM Fifew & W&t g2 = 7oF w1 9w a4
B & 7

(D T I, HvE F e Hlem @ & o g

(FHR) wera Fifen § wfem = 9 2 2

@ A v & me g 8§

@ T o & e gl e i gEe (e
gﬁﬁa‘i‘rﬁ]ﬂﬂ Fad & WY weR e ey
|

() T S F WY Hfer A ¢ a T e
FITE & Fmwi | Hfer gm

138 Placentation, in which ovules develop on the inner
wall of the ovary or in peripheral part, is:

1434,

140,

141.

142,

(L
(2
(3
(4

Basal

Axile
Pariotal
Free central

Which of the following protocols did aim for
reducing emission of chlorofluorocarbons into the

atmosphere ¥

(1) Montreal Protocol

(#  Kyoto Protocol

(3 Gothenburg Protocol

(4

Geneva Protocol

Which of the following contraceptive methods do
involve a role of hormone ?

(1)

2)

()
(4

Lactational amenorrhea, Pills, Emergency
eontraceptives

Barrier method, Lactational amenorrheas,
Pills

CuT, Pills, Emergency contraceptives

Pills, Emergency contraceptives, Barrier
methods

Tidal Volume and Expiratory Reserve Volume of
an athlete is 500 mL and 1000 mL respectively.
What will be his Expiratory Capacity if the

Rezidual Volume is 1200 ml ?
(1) 1500 mL
{Z) 1700mL
(3  2200mL
(4) 2700 ml

What is the fate of the male gametes discharged

in the synergid 7

(1) One fuses with the egg, other(s) degenerate(s)
in the synergid.

() All fuse with the egg.

(4 One fuses with the egg, other(g) fuse(s) with
synergid nucleus,

4 One fuses with the egg and other fuses with

central cell nuclei.
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3. STl of oo ) e w5 o ST TR
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144, 3 w1 Sirem wtfmm g wdwem s ) T
W fafmm Amfss m w =ae iy
1} Mangifera indica Car, Linn.
(2}  Mangifera indica Linn.
(3  Mangifera indica
[}  Mangifern ndiea
145, Fefaten s viaes e g & e
I e F e we g
(1) 5 s ST, T Y §Y TH T ELUY,
3 Y FRA
I USEH BLUAT T R 9 e €
3t 3 & e o e A
TR UAEH Wedw o 91 fawe we W
YiEAT-TIER2 T i il B
TE USnE B, W s fafme e
fFTaEEs AEe # TrE = b

146. T gite & e st i & oy graseiag
o Ty farsiie 780 Yo 52 w9 F e awm

{2)

{3}

(4}

TE1 Tt an s & e
(1) firagd

2 =4

(3  ErEme

(@ R

147, GeiEn (Tiagm) | o o [W % e O

Ty warA fm ma B, OF e O wre qun W
T g i T, 6 v, e
i T Yo T g et § W e e

I °GT FilaA
(1) =% wEm 9vifEE % fEEE w1 s T
il

F, 8 a0, gl avifEa & swm s

1 2
F, &1 Jig9d ?fﬁﬁ]:;{ﬂﬁﬁl}:%{ﬁ'ﬂ}

#
T8 WM ¥ guEw 1 1 v 16 2

(2)

(3)

4
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144.

145,

146.

147.

- | |

' hotopey;
rc:ept.mn_u[ P -
vhat 18 the H!tem"‘ti‘f:gfﬂuwermgmp]ﬂmﬁ?“d
wWha _ .
necessary m:da
qy Lawersl”
(2 pPulvinud
R Shoot APES
Leaves | |
i rectly written E-l.‘.-IBI'ItIﬁ{": Name
Sglect the l:!]:?‘; was firat desoribad by
Mangoe W&
Jug Linnaeud: "
Cl'm mng:'.ﬁemind:m C_ur- Linn |
:g; :ﬂ,:fungfﬁemindfﬂﬂ Linn.
(@ Mangifero fndt:{ﬂ |
) angifera Indicd |
ibe the characterigj, |
- gtatements descr .
Efﬂlt,l-l::;fi':ne Restriction Endonuclease. Identif, |
the incorrect gtatement. | l
1) The enzyme cuts DNA molecule atidentife; |
: position within the DNA. -
(2) Theenzymé binde DNA at specific sites ang
cuts only one of the two strands.
(3 The enzyme cuts the sugar-phosphat,

hackbone at specific sites on each strand

The enzyme recognizes a specifi

4 i
() palindromic nucleotide sequence in the DNA

From evolutionary point of view, retention of the
female gametophyte with developing young embr
on the parent sporophyte for some time, is firt
ohgarved in :

(1)  Liverworts

(&)  Mosses

(3)  Pteridophytes
(4} Gymnosperms

In Antirrhinum (Snapdragon), a red flower was
crossed with a white flower and in F, generation.
pink flowers were ohtained. When pink flowers
were eglfed, the F, generation showed white, red

and pink flowers, Chooas the incorrect statemen!
from the following -

I-r.l.} Thiﬂﬂmﬁmmtdmamt inc
follow the Princplé
of Dominanece,
@) Pink colour in F, is due to incomplet*
dominance.
®  RatioofF, is - (Redr. 2 rorps . L ohite
. 218 7 (Red): qfﬁnk}.4f‘ﬁh‘w

Law of Segregatio 1y in thié
exper A Eation does not apply
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148, TEEI T TR - 6 R 1 e, = engeerem | 148
it qEe sEREvig sfufem B, frs gm sl

Bt & 7
(1) TEEE
(2)  EEEEE
(3 T
(4) RS
19, ‘Bl T T A s w8 M,
1y =it & s B
(2 IR ¥ T
(@) I TR A
(4) iR % T R
150, ETHIA wre st g w1 ww W | v
(1) =F", LNG-20
(Z)  WeEITiiE 375, W=
(3  WRREE, LNG-20
(4)  ToTirE T, wedEE 475

161

152,

TH A FE T OE aelE A, a B 4l wwE
SElE A F AHEwE 0.4 § 7= i § wwgee

W, famRrst U et s st w5
Triama =1 gt ?

(1) 0.36(AA); 0.48 (Aa); 0.16 (aa)
(Z)  0.16 (AA); 0.24 (Aa); 0.96 (aa)
(3 0.16{AA); 0.48 (Aa); 0.36 (aa)
(4)  0.16(AA); 0.36 (Aa); 0,48 (aa)

e e ¥ fawy § et 4 8 25 5 g
T

m ﬂ%ﬁﬁﬁ%ﬁﬁ'ﬂﬂm,mq—quqﬁﬁ%r

@ T dte g F 91 T, e
whet # | '

(B GO S T e e
T ¥ S 7 Yy Hewit

() - i R s

HE T 9

151,

162,

Pl

Conversion of glucose o glucose-6-phosphate, the
first irreveraible reaction of glycolysis, is catalyzed
by :

i1y Aldolase

{1  Hexokinasze

(@  Enolase

{4  Phosphofructokinase

Drug called ‘Heroin' is synthesized by :

(1)  methylation of morphine
(%)  acetylation of morphine
(3  glycosylation of morphine
(4)  nitration of morphine

Select the hormone-releasing Intra-Uterine
Devices.

()  Vaults, LNG-20

() Multilnad 375, Progestasert
(3  Progestasert, LNG-20

(4) Lippes Loop, Multiload 376

A Eﬂnt‘llﬂ{:ua has two alleles A, a. If the frequency
of dominant allele A is 0.4, then what will be the
frequency of homozygous dominant, heterozygous

and homozygous recessive individuals in the
population 7

(1) 0.36{AA) (.48 {Aa); 0.16 (aa)
2  0.16(AA):0.24 {Aa); 0.36 (aa)
3 0.16(AA): 048 (Aa); 0.36 (aa)
(4)  0.16 (AA); 0.36 (Aa); 0.48 {aa)

Which of the following is true for Golden rice 7

(I} Itis Vitamin A enriched, with a gene from

daffodil.

Z) It is pest resistant, with a gene from
Bacillus thuringiensis.

{#) It is drought tolerant, developed using
Agrobacterinm vector,

(4) It has yellow grains, because of a gene

introduced from a primitive variety of rice.
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158, W#ﬂﬂm#mﬁiﬂﬁwfﬁ 163. P gepd canno® =, 2 A
qfes o8 @1 v TE fEE FEO Bl :—:ﬁﬁﬂ e wlinth“;lut fungal as..wﬂ-.:mnntlil. This is becauess -
(1) sfraE @) itsembryol® immature:
s ::: T G| Ei - @ i has ohligate ugsucizltiﬂtl with m}rmﬂmﬁl
T;ﬂ;'i:ﬂ (AR} & =Y sifErd @  ithasvery hard seed coat.
; tpin inhibitors tha
(@) wEE! dE A Fen B * ::;Eﬂii;g s A g |
(@) o o e e B 9 S
'El 154. W']le;h,}fthg following features ﬂfgcuemﬁﬂedm |
allow hacteria to produce human insulin y
154. Ff= d mﬁuﬁm e W 27 T e m ol pecom binant DNA LEEhnﬂlEIE-'!F? h't |
g;‘?;q DNA TR % 50 o S 3 w0 (1) Genet._ic eode .ia not ambiguous
2y Genetic code is redundant
(1) ST Tpe SErery 5§ (3  Cenetic snde is nearly universal
(2 ST v T d (1)  Geneticcode is specific
(3) s v s A
(4) At TEe fafime g 155. Which of the following gexually transmi
‘ : digeases is not completely cura ble 7 y
155. =1 § %19 1 4 Fafm i goi: w6 e (1)  Gonorrhoea
(1) Fo =5 (%  Genital warts
(2) HiTE T (@  Cenital herpes
(3) R i {4 Chlamydiasis
(4)  wEfaiETm .
ich of the following statements i
entsisin
156, e daSA W FE TR E? () Vircidslacka protein coat correct’
::‘} ot o 12 ST s ST g (2)  Viruses are obligate parasites.
.j Ty sfrard w0 9wt B ¥ @ ﬁiﬂﬁ?ﬂmﬁtmﬂt in viruses is the protea
) T § st 18 g e s ) Prions consistof abrormally flded
= protels
157, =1 <l @ Tt "y 167. Match the followi
faferemait & my firam =10 - respective r:haructe:;;f' organisms with the
@ W P . @ Pila e
by =T I (b )  Flamecells
(i) e g ) Bombyx i)
© g @ v ©  Pleurobrachia g Combiplatas
@ e : whracua (o) Radula
(iv)  Eerdit wfemm W e {iv) Malpighi
Frerifen Fasedi § 9 WA 390 51 0 tuhuFilghmn
(a) (b I Select the cor 2 =
(b) {e) (d) rect option from the following:
(@ 6 6 @ ()
ST Q1 e} (d)
(2 ) v @ ) Yoo @) M
@ @ v G 6 @ (i) 6@ {iv)
) @ @ 0 @ @ ¢ @
) W @ @
(i) (i .
@ G @
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160. =hieTd - | 1 =RTeTq - I1 & Fifom Hifam -

161.

e - 11
WTEY WE ¥ Ty FHEE w
TEAE! T
A e TErE = AT
i el sveEn A
¥ T AT
hilia il fiamt st wuwl w5
( ) e T
=il foeresi & 4 il =we gfim

@ (b (© ()
o m @ GEo )
@ @ @ @ v
@ @ @ G G
4 6 @ @ 6

et 3 i 1 e it dafe-fi
(1) GLUTI

@ GLUTH

(3 GLUTII

4 GLUTIV

Frer & i f st s s v o
% for weeardt 7 »

(1) E-uhm s
(2) v i iR

B} TR wfien s

(1) iy it whmen smfem

i - |

(a) wAEE @)
Tt
g

{b)
ic)

(i)
{iii)

(d) (iv)

a7

168.

158,

160

161

162,

P1
Expressed Sequence Tags (ESTs) refors to ;
(1) CGenes expressed as RNA
(2 Polypeptide expreasion
(5 DNA polymorphism

(4) Novel DNAsequences

Which of the following statements is incorrect ?
(1}  Morels and trufflez are edible delicacias,
Claviceps is a source of many alkaloide and

(2}
LS.
(3 Conidia are produced exogenously and
amcospores endogenously.
() Yeasts have filamentous hodies with long
thread-like hyphas.
Mateh Column - I with Column -I1.
Column -1 Column -1
(a) Saprophyte ()  Symbiotic association of
fungi with plant roots
b} Parasite 1) Decomposition of dead
organic materials
i) Lichens (i} Living on living plants
or animals
{d) Myearrluza  (iv)  Symbiotic association of
algae and fungi

Choose the correct anewer from the options given
below :

(a) (b} (&) (d)
™ @ @ @
L T 1 R ¢ I
@ @ ® @ G
@ 6 i G @

Which of the following glucose transporters is
insulin-dependent ?

()  GLUTI
2 GLUTII
3 GLUTII
4 GLUTIV

Which of the following immune responses is
responsible for rejection of kidney graft 7

(1
()
(3)
(4)

Auto-immune regponse
Humoral immune response
Inflammatory immune response
Cell-mediated immune response
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P1
i : a8
o : (TR 37E) ¥ & FEW T w 163. Use of an artificial kidney dur
T 5 AR EE may result1m -
(@) Tl arefee LA = Bt E (a) Nitrogenous wagte huild-upin the body
() o ddferm s Fre TF A {b) Non-elimination of e:u:?as u'][:llﬂ-'l'-‘ﬁ-gsi_u-m i
I tipn of calcium i
o s — e
) RBC T et St # @  Reduced iB(ll production
Freferiia Which of the fol owing options ig th
(1 Ea};;j;“;ﬁmmﬁﬂﬁ appropriate ? Bian ¢ Mogy
@ O EoFEE (1y (a) and (b} are correct
. @ (bjand (c)are correct
@ (c)and (d)are gorrect

3 (owEd

4 j
a) T (d) Ifam (4) (a)and (d) are correct

164. i e A aad?
() = I e W T i it 164. Which of the following state ments is correct ?
T e 1) Cornea i '
o : (1) mr;&al is an external, transparent ang
= mﬂﬁ;ﬁ et s A i pratMERAGIIN SERERIE N e
I
@ we (2) Cornea consists of d —_—
b gjmm T § = S gagta of elastin and can re;::fi:;enﬁﬂmw .
@ X () _C.'nrnea ig convex, t .
EER T 'Ha‘ﬁin e o1 HEA ST e ai T is highly vaacularisl;a?:spmm el
et ym ) (4)  Cornes consists of dense matrix of coll
165, ﬂ%ﬁ"ﬁ' o RS GE VI and is the mogt sensitive portion Df‘-‘;]"l:gﬂn
Tﬂ'*ﬁ'ﬂ'maﬁmmﬁw% i W | 165, The fre -
=i Tt &t ? AL on th&q:ae::;{:r thrfﬂmmbmaﬁun between gene pairs
A m distance bEt.Weencé:IEuD::l ::;23 nl measure of the
2 TR dEa () T.H.Morgan o
(3 s (@) Gregord. Mendel
() wAEE] ::: Alfred Sturtevant
N Sutto ;
16
6. ?maﬂm#ﬁqaﬂq?aﬂaﬂ#aﬂﬁ#ﬁmﬁm 166, e
[ E:ﬂ!:ch the following genes
(@ 19A @ B elr l‘fzapective products - of the Lacopeton with
b 2 i Wﬁlal g i (a)  igene (M B
© a¥m ®)  zgene 7 Rt
@ g (iii} R © a )  Permease
¥ (iv) gy (d) S (i) - Repressor
fea ey =1 =37 | Sele i v}  Transacetyl
(@) (b) () (d) €t the correct option s
O O @ @ G (a) '
(iv) (b) (o)
@ G 6 @ 0B o
® @ 0 6o O @ G g i
@ @ & 0 @ O @ oo o
® @)
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171, i) A i i v e e P 82
() M ¥ w5 F 9 e e d el
@ FfrEaE
@ Y stE H v d
) e fagEe + ma-my
172. o e o Pt A 3 3 e
w03 9= 78 gm 7
' AACAGCGGUGCUAUT 5
() sdfefRwGcHfmma
(2 54 W o F e
@ 49 v 5 o fefo wowT A @ G ¥ e
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Pl

It takes very long time for pineapple plants to
produce flowers. Which combination of hormones
can be applied to artificially induce fowering in
pineapple plants throughout the year to increase

yield ?
(1)
@
()
(4)

Identify the cells whose secretion protects the lining
of gastro-intestinal tract from various enzymes.

Auxin and Ethylene
(ibberellin and Cytokinin
(libberellin and Abscisic acid
Cytokinin and Abscisic acid

{1}  ChiefCells

@  Goblet Cells

(3  Oxyntic Cells
(dp  Duodenal Cells

Which of the following can be used as a biocontrol
_agent in the treatment of plant disease 7

i1y Trichoderma
2 Chlorelia
#  Anaboena
{#) Lactobacillus

Phloem in gymnosperms lacks :

(1) Albuminous cells and sieve cells
{2}  Sieve tubesonly
(@)  Companion cells only

(4)

Both sieve tubes and companion cells

Extrusion of second polar body from egg nucleus
OCCurs |

(1} after entry of sperm but before fertilization
@ after fertilization

()
(4)

before entry of sperm into ovum
simultaneously with first cleavage

Under which of the following conditions will there
be no change in the reading frame of following
mENA Y

6 AACAGCQGUGCUAUU &
(1) Insertion of G at 5th position

(2)  Deletion of G from 5th position

(@  Insertionof Aand Gat 4' and 5% positions
regpectively

) Deletion of GGU from 7th, 8% and uth
positicns
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(o (3 gehleidan
:j: E )  Aristotle

ctivation of protoxin to active b,

- iﬁ %mﬁs;qmm%ﬁ s Eﬂf;ﬁ;ﬂg&ﬁ:ﬁ thuringiensis in boll worm 7
w87 () Body temperature
(1)  ¥RR = aeEE @ ﬂui ot surface of midgut
() weEa 1 At awl O (3)  Alkaline pH of gut
@ ‘S @  AcidiepH of stomach
(4)  3ETTS W I pH

175, T=ifetas 5 4 30wl T =1 5 &5 aewEs =
& SN AR AEwEes ¥ peede w1 el

&7

(1) =Ty apdes | 9,8 . v
@) EEEwE g e e

(3)  EEET o U e

() B e faee Tl

176 =% Sl e F & foral o s 3 e
s o g &, o wem o ¥ el sfm e 2

(1) == iHEm
@ e fHEgm
@ uEad figm
@ T e
177, WEitets, ivatn wviatE wfes w1 e T
& =i Frefatan & fars fom, e
w0 H gl g 8
(1) Il # et 3 i
(2 FEEHFEIH
(8) HEH F
(dy el S OEe w

; ' zenting th
175. Tdentify the ecorrect pair represen ;
causative agent of typhold fever and the

confirmatory test for typhoid.

()  Plasmodium vivax | UTI test

(2)  Streptococcus preumoniae | Widal test
(% Selmenella byphi ! Anthrone test

@) Salmonella typhi ! Widal test

176. Whatis the genetic disorder in which an individual
has an overall masculine development
gynaecomastia, and is sterile

(1) Turner's syndrome
@  Klinefelter's syndrome
(@) Edward syndrome

) Down's syndrome

177. Polyblend, a fine
plastic, has proved

(1)
(2)
(3)
(4)

powder of recyeled modified
to be a good material for :

making plastic sacks
use as a fertilizey

tonstruction of roads

making tuhes and pipes
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178, Which of theze following methods is the most
suitable for disposal of nuclear waste ?

175

180.

(1
(2)
(3)

(4

Shoot the waste into space
Bury the waste under Antarctic ice-cover

Dump the waste within rocks under deep
Qoean

Bury the waste within rocks deep below the
Earth's surface

Match the following hormones with the respective

digease ;

(a) Insulin i  Addison's disease

¢  Corticoids (i) Acromegaly

@ GrowthHormone (iv) Goitre

iv)  Diabetes mellitus

Select the correct option.

@ (b) (c) (d)

8 N B (i) (i)

@ W ) @) @

@ & ) @ ()

M) v G )

Select the correct option,

(1) 8™, 9™ and 10'h pairs of ribs articulate
directly with the sternum.

(2)  11thand 12th pairs of ribs are connected to
the sternum with the help of hyaline
cartilage,

(3  Each ribis a flat thin bone and all the ribs
are connected dorsally to the thoracic
vertebrae and ventrally to the sternum.

) There are seven pairs of vertebrosternal,

three pairs of vertebrochondral and two pairs
of vertebral ribs.
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